run_13100060 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13100060 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13100060 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13100060 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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[ADC for FGT RDO=1,ARM=0,APV=5 }

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }
|

3000 40(
raw ADC

10*

2000

3000
raw ADC

4000

[ADC for FGT RDO=1,ARM=0,APV=9 |

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 ==
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - -«
% =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
oE—+
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. 8 sy e d . e

10

10°

10°

10

10




run_13100060 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Apr 10 00:11:27 2012
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run_13100060 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13100060 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Apr 10 00:09:08 2012
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run_13100060 FGT MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 00:11:29 2012
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run_13100060 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB

Tue Apr 10 00:12:02 2012
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run_13100060 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Apr 10 00:09:13 2012
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run_13100060 FGT MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 00:11:30 2012
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run_13100060 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 00:12:04 2012
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run_13100060 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Tue Apr 10 00:09:17 2012
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run_13100060 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Tue Apr 10 00:11:31 2012
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run_13100060 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Tue Apr 10 00:12:05 2012
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run_13100060 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Tue Apr 10 00:09:22 2012
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Tue Apr 10 00:09:36 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

0

1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

1000

2000

3000 40(
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=8 }

1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

1000

2000

3000 40(
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

© AR R R A

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|r|1 I|‘I1II‘|1 T

APV channel

[[ADC for FGT

Py
]

O=1,ARM=2,APV=8_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

.. . s el

10°

10

10°

10

10°




run_13100060 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13100060 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
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run_13100060 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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run_13100060 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Tue Apr 10 00:10:04 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

bin=2,Disc=
11:42 2012

ime

Tue Apr 10 00

run_13100060_FGT_MPV_1,T

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13100060 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Tue Apr 10 00:12:15 2012
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run_13100060 FGT_ ADC _1,Timebin=2,Disc=5,asmb=5AB
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run_13100060 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13100060 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 00:12:15 2012
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run_13100060 FGT_ ADC _1,Timebin=2,Disc=5,asmb=5AB
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run_13100060 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13100060 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 00:12:16 2012
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run_13100060 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 10 00:10:14 2012
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run_13100060 FGT MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13100060 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13100060 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 10 00:10:18 2012
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run_13100060 FGT MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13100060 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13100060 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 00:12:22 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13100060 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC

Tue Apr 10 00:10:34 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

-ped

i
2000

[ 1000

3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1APV=7 }

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=9 |

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—

% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0 ==
=
APV channel
[ADC for FGT RDO=2,ARM=1,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.4 ., .d4 Ee.d .0 8

10

10°

10°

10

10




run_13100060 FGT MPV_1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 00:11:49 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

1500 [+

MPV (ADC-ped)

1000 [5

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

i
120
APV channel

-500

[ ADC MPV for RDO=2,ARM=1,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13100060 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 00:12:22 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

60

50

RMS (ADC-ped)

40

30

| I XN EEEEEEEEEEEEEL]

20 pb—---. o] eaaaall

10

. . . ;
0 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=6 }

120 f— - s o EELEEEEEEEEEEEED T EEEEEEEEEEET EEEEEEEEEE e R e KRR R e EEEEEEE

200 f—veee e

RMS (ADC-ped)

Ol I ) Y ¥ g

60 —-—-1- 1t A -F -1 FEddEFmE

a0 e R N R RLTITEL N =L - A - oy e LB gt PR S +H.H Learrp b L ULLE RE e

20

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=7 }

100

RMS (ADC-ped)

80

60

°'I'I'I'|'f'|'r]'r|'l';I;}'I' 'I'H'[I'I'

40
20 i
o i i i i i i
20 40 60 80 100 120
APV channel

[CADC RMS for RDO=2,ARM=1,APV=8__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

= —
3 g
-3 =
3

2 100 p
12}

=

'3

80 (=
1

60 [+

[—
m |Fe=sssascsdHbsasesasadhossanasanasanasasasandhanasasasasssanclbhossadbeasddlassassasaldiancsdhesddbeanasanasandthas
&) |BE=—=co05c004kboococoosgposcooncos00o0500000009P5050965500050050505008P000005090360000050050TPIC00000000009030000000d|djoos00000000000505000aB000000
o = i . . . i . . . i . . . i . . . i

0 20 40 60 80 100

APV channel
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